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CCT (CULULATIVE CLASS TEST) # 24 (Up to CFC 2025 / B2)

Full Marks: 200

Section A: MCQs - (20 x 1 = 20 Marks)

(Attempt all. Each question carries 1 mark)

1.

10.

11
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The LCM of 12, 15, and 20 is:
a) 60 b) 120 c) 30 d) 240

Find the average of 15, 25, 35, 45.
a) 30 b) 25 ¢) 35 d) 40

What is the HCF of 56 and 727?
a)8b)4c)12d) 16

Time & Work: A can do a job in 5
days, B in 10 days. Together, they’ll
finish in:

a) 3.33 days b) 2.5 days c) 4 days d)
S days

. Which is a Peninsular River?

a) Ganga b) Yamuna c) Narmada d)
Ghaghara

Which river flows through the
Northern Mountains?

a) Godavari b) Brahmaputra c)
Narmada d) Krishna

Which soil is found in the Deccan
Plateau?
a) Black b) Alluvial c) Laterite d) Red

Identify the odd one:
a) Train b) Road c) Bus d) Bike

Direction Test: If facing east, turning
90° left, you face:

a) North b) West c¢) South d) North-
East

Blood Relation: If A is B's mother’s
brother, A is B’s:

a) Father b) Uncle c¢) Cousin d)
Brother

.Find the next number: 2, 6, 12, 20, ?

a) 28 b) 30 ¢) 32 d) 36

Answer All Questions
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Time: 2.5 Hours

12.Syllogism: All men are mortal.
Socrates is a man. Therefore:
a) Socrates is immortal
b) Socrates is mortal
c) No conclusion
d) All men are Socrates

13.The Preamble of the Indian
Constitution declares India as:
a) Monarch b) Federal State c)
Republic d) Confederation

14.Article 32 relates to:
a) Directive Principles
b) Fundamental Rights
c) Citizenship
d) Election Commission

15.The President is elected by:
a) Direct election
b) Lok Sabha
c) Electoral college
d) Rajya Sabha

16.National Income includes:
a) Transfer payments
b) Black money
c) Final goods/services
d) Illegal trade

17.Who appoints the Comptroller and
Auditor General of India?
a) President
b) Finance Minister
c) Prime Minister
d) Chief Justice

18.Advent of Europeans in India began
with:
a) British
b) French
c) Portuguese
d) Dutch
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19.Subject-verb agreement: “He don’t c) Passive
like it” is — d) Interrogative
a) Correct

20.Solve: V81 x V16 =

b) I t
) Incorrec a) 72 b) 36 ¢) 9 d) 24

Section B: Short Descriptive — 10 Marks each (8 x 10 = 80 Marks)
(Answer any 8 questions)
1. Describe the physiographic divisions of India.
Explain the theory and classification of monsoon in India.
Discuss the functions and powers of the Governor.
Highlight the importance and limitations of National Income as an indicator.
Explain the role of Directive Principles of State Policy in e-governence.
Analyze the energy and mineral resources of India.
Write a note on the historical significance of Bengal Nawabs.

Describe the architecture of Indian Parliament Building.
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Discuss irrigation methods and their impact on Indian agriculture.

10.Explain the nature and characteristics of Bengali Black and White Cinema..

Section C: Long Descriptive — 15 Marks each (4 x 15 = 60 Marks)
(Answer any 4 questions)

1. Discuss the industrial development in West Bengal.

Can ethics keep pace with rapid evolution of AI?
Describe the geographical features and challenges of Indian agriculture.

Analyze the constitutional provisions regarding Fundamental Rights.
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What is carbon trading? Describe the latest developments in carbon trading
mechanism.

Explain the functions of Election Commission and its importance in democracy.

Section D: Essay - (1 x 40 = 40 Marks)
(Write one essay of about 500-600 words. Choose any one topic)

1. Reservation in India — A Boon or a Bane?
2. Climate Change and India’s Future
3. The Role of Women in Nation-Building
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